N

( ATTACCHI SPECIFICI PER - SPECIFIC FITTING KIT FOR . \
KIT DE MONTAGE SPECIFIQUE POUR - SPEZIFISCHER MONTAGEKIT FUR
ANCLAJE ESPECIFICO PARA

DUCATI STREQE)'(I;I;IGHTER 1098

N\ /7 @ N\ /7 @ N\ /7 @

RONDELLA @6mm RO;I7D9EI.LA TEFLON RONDELLA IN GOMMA

(A78]A-A781A)\

VITE TCEl M6x35 VITE TBEIFN M6x1
SCREW ssmm L screw 6x16 [ | RO S A @16x3 foro 6mm
ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS SUPPORT L RaUBE L8 rause Nt E @ ¢mm RONDELIE Gmm RONDELLE EN CAOUTCHOUC
k INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE ) SOPORTE TORNILLO TORNILLO ARANDELA @6mm SERE 2o RANDELS DB COMA

_ QTYn.1l J{ QTYn2 J{ QTYn4 )| QTYn2 J{ QTYnd4 ){( QITYnX )

4 @ N N

DADO A.B. M6 °
FLANGIATO COMPONENTI ORIGINAL

BOLT Mé ORIGINAL PARTS o
ECROU M6 PARTIES ORIGINALES

MUTTER M6 ORIGINAL BAUTEILE

TUERCA Mé COMPONENTES ORIGINALES

(_ QTYnd4 J{ QTYn.- J{_ QTYn.- )

N

TOGLIERE
REMOVE
ENLEVER

ENTFERNEN

QUITAR

© Copyright 221009AR-Rev00, 1/2

.




( ATTACCHI SPECIFICI PER - SPECIFIC FITTING KIT FOR . \ \
KIT DE MONTAGE SPECIFIQUE POUR - SPEZIFISCHER MONTAGEKIT FUR
ANCLAJE ESPECIFICO PARA

DUCATI STREQE)'(I;I;IGHTER 1098

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
k INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE )

(A78]A-A781A)\




